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General Instructions:

1.

The question paper comprises Four Sections - A, B, C and D. There are 10 questions in the question paper.
All questions are compulsory.

. Section A - From questions 1 to 5 are Objective Type Questions of 1 mark each.
. Section B - Question no. 6 and 7 are Very Short Answer Type Questions, carrying 2 marks each. Answers to

each question should not exceed 40 words.

. Section C - Question no. 8 and 9 are Short Answer Type Questions, carrying 3 marks each. Answers to each

guestion should not exceed 60 words.

. Section D - Question no. 10 is the Long Answer Type Question, carrying 5 marks. The answer should not

exceed 120 words.

SECTION A

Access to shops, public restaurants, hotels and places of public entertainment is granted equally 1
to every citizen of India by the provision listed as in the Indian
Constitution.

Pick the statement which does NOT refer to the same domain as the other three statements: 1
a) Itis an irregular surface with various landforms.
b) It is the source of Earth’s mineral wealth.

c) Itis held by the gravitational force of the Earth.

d) It is made up of rocks and covered with soil.

From the given options, identify the handwriting style of Persian and Arabic which was cursive 1
and easy to read.

a) Shikaste b) Nastaliq c) Nagashi d) Nagsha

Choose the option which identifies the correct pairing of the following: 1

(A) Minhaj-i-Siraj () Fourteenth century

(B) Ziyauddin Barani (1) Sixteenth century

(C) Al- Idrisi (1) Thirteenth century

(D) Babur (IV) Twelfth Century

a) A-1v, B-II, C-1ll, D-1
b) A-lll, B-ll, C-IV, D-I
c) A-lll, B-I, C-1V, D-II
d) A-IV, B-I, C-IIl, D-I




5. | There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the

codes provided below:
Assertion (A): Tamil Nadu was the first state in India to introduce the midday meal scheme.
Reason (R): The Supreme Court directed all state governments to begin this programme in their
schools within six months.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Alis true but R is false.
d) A is false but R is true.
SECTION B

6. | What happened as a result of the Civil Rights Movement in the United States of America? How
did it impact schools in the USA?

7. | What do you mean by the term pan- regional empire? Name at least two dynasties which
succeeded in building pan-regional empires in medieval India.

SECTION C

8. | ‘Human beings have modified the environment to fulfil their needs.” Justify giving any three
instances.

9. | 8-year-old Raju belongs to a poor family and his parents have no regular employment. The school
which he goes to, starts the midday meal scheme for students. Write three ways in which the
scheme will benefit him.

OR
State any three provisions made in the constitution of India for the recognition of equality.
SECTION D
10. | Name the various domains of the environment. Describe them in one line each.

OR

Consider a historian studying the manuscripts dating to the medieval period. List any five
difficulties that he might encounter.
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General Instructions:

1. The question paper comprises Four Sections - A, B, C and D. There are 10 questions in the question paper.
All questions are compulsory.

2. Section A - From questions 1 to 5 are Objective Type Questions of 1 mark each.

3. Section B - Question no. 6 and 7 are Very Short Answer Type Questions, carrying 2 marks each. Answers to
each question should not exceed 40 words.

4. Section C - Question no. 8 and 9 are Short Answer Type Questions, carrying 3 marks each. Answers to each
guestion should not exceed 60 words.

5. Section D - Question no. 10 is the Long Answer Type Question, carrying 5 marks. The answer should not
exceed 120 words.

SECTION A
1, The use of wells, tanks, bathing ghats and roads is granted equally to every citizen of India by the 1
provision listed as in the Indian Constitution.
2. Choose the option which identifies the correct pairing of the following: 1
(A) Al- Idrisi () Fourteenth century
(B) Ziyauddin Barani (1) Sixteenth century
(C) Minhaj-i-Siraj (1) Thirteenth century
(D) Babur (IV) Twelfth Century
a) A-lll, B-1, C-IV, D-lI
b) A-lll, B-ll, C-IV, D-I
c) A-1V, B-Il, C-1I, D-llI
d) A-1V, B-I, C-III, D-I
3. Pick the statement which does NOT refer to the same domain as the other three statements: 1
a) It is held by the gravitational force of the Earth.
b) It is the source of Earth’s mineral wealth.
c) Itis anirregular surface with various landforms.
d) It is made up of rocks and covered with soil.
4, From the given options, identify the handwriting style of Persian and Arabic which was densely 1
written and difficult to read.
a) Shikaste b) Nastalig c) Naqgashi d) Nagsha




5. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the
codes provided below:
Assertion (A): Establishing equality in a democratic society is a continuous struggle.
Reason (R): Attitudes of people change very slowly.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Alis true but R is false.
d) A'is false but R is true.
SECTION B
6. Civil rights Movement started in the United States of America in 1950s. Describe the incident
which led to the movement. What happened as a result of the movement?
7. Who was considered as a ‘foreigner’ in the medieval period. Describe with the help of an
example.
SECTION C
8. What is the atmosphere and what is it made up of? Write two ways in which it impacts life on
the Earth.
9. State any three provisions made in the Constitution of India for the recognition of equality.
OR
8-year-old Raju belongs to a poor family and his parents have no regular employment. The school
which he goes to, starts the midday meal scheme for students. Write three ways in which the
scheme will benefit him.
SECTION D
10. | Consider a historian studying the manuscripts dating to the medieval period. List any five

difficulties that he might encounter.

OR
Name the various domains of the environment. Describe them in one line each.




